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This quiz will be graded out of 15 points; the True/ False question is worth 3 points, and the oo e
s worth 12 points. Please read the imstructions carefully

True or False. Mark the following statements as either true or false. or leave & blank if you don t
know A correct answer is worth +1 point, a blank is worth 0 points, and an wncorrect almwer i«
worth -1 poimts, so be smart about guessing!

e T A and B are sets such that |A| = m and [B| = n, then there are n™ different
functions f: A - B.

b. _E__._ The empty tree is one example of a full binary tree

c _-D Define a set S by the following recursive definition. Base step: 2¢ S and 1/2 € S.
Recursive step: If z and y are in S, then xy € S. Then the set S consists of all
powers of 2.

*

Exercise. Suppose that p and g are distinct prime numbers, and that n = pg. Find the number
of positive integers not exceeding n that are relatively prime to n.

A numbe- s melo»"mly prime b n exqc“g, iF ks
divisille by neither of P and §. We can count this
Collection of  numbers Oy counting the numbers Hat ave
divisitle 6& p er ‘?, g, and SK“"‘Ko"t‘ka, Hhis  amount
fomn N, Ha Bfal  Aumber of nambes not excesding .
Thare are g numbes  divisitle by p, and p Anabers
divisitle by g, and one mumbem (yusk n) divesible b
boh. TAas the count is prg-l for numbes divisible

6; P “w $’ MJ "LL hunL‘r- of ul-.hw.l} prima
nam‘-lq-s s n- P'si‘,.



